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(CH MY m =)

1. 5328 (EHl - /)
=
e s orasl il T W T R EEY =
108 M 0 279,887,897 117,460,123 93,314,900 210,775,023 69,112,874
At A 309,950,582 | 2,633,446,592 | 1,490,840,846 763,542,290 | 2,254,383,136 | 379,063,456
2. + ¢ (THel - &)
g = g A 108 1F 108 2F 108 3F 108 4F 108 5F
g A 279,887,897 64,926,000 48,866,643 44,296,000 60,063,728 61,735,526
FHHa 59,929,220 11,147,000 13,347,352 11,683,000 11,740,868 12,011,000
gAeE 31,908,000 6,653,000 5,885,000 3,746,000 9,528,000 6,096,000
MAuxHF 178,078,677 44,119,000 28,608,291 27,690,000 36,191,860 41,469,526
Afsfistol 0
A7
fe3 0
=@M 1,870,000 750,000 195,000 190,000 225,000 510,000
SH (ArEeleh)| 2,951,000 907,000 367,000 400,000 543,000 734,000
sf el m 5,096,000 1,340,000 419,000 587,000 1,835,000 915,000
SEdZ 0
7|Et¢ 55,000 10,000 45,000
3. S22 (Sl : )
g 5 ol & T NE- T o H I
YHIla 4,080,893,623 800,000 0| 4,081,693,623
oeo|a 1,009,726,190 520,000 500,000 | 1,009,746,190
o fsi 25,238,918 110,000 0 25348918 |(+¢¥) F&SL E=H|
1 7|Eb(EHLHE) 50,151,705 0 0 50,151,705
7ISnd=8 248,089,797 16,103,357 2,720,000 261,473,154 |(=¢¥) €F=(15008hH &
O|AES 37,602,374 7,545,346 3,053,585 42,094,135
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4. X|= (& #] 210,775,023
(B R
< 1. OflHi I &2 > [2 Al 14,019,780
o SR (EM) =% XIS
10/7 =gl 12,000 (22| OF2/0fHi(10/9Y) = FUH|
10/14 =9 135,000 |EXM 2| CiH| T2 2HE2|(10/14) MAITH(EZ A|Ef 9 R*157H)
10/21 =3 360,000 |"E&E2|(10/21) M4/ CH
10/21 el 203,830 [ZAE2|(10/21) Tk 4|
10/28 = 300,000 [2EE=32| Oof2|ofHf £tx=
10/14 Of| b = 206,000 (M2 Y Xt HE TH|(HdZ2F 6H)
10/28 Of| tH £ 198,000 |-dXHAI(HE) T RH|(FFAH|2E 227H)
10/28 Of| tH £ 94,500 [GEHA|(ZEEF) FRH[(ZEE 279)
10/7 FUE 112,000 |HAEAE ZAH|(FA], THH| &)
10/7 =8 112,820 |&= X 7| =2| ZtAH]|
10/14 FUE 860,230 [HAEAH AH[(1FXEZEA, ZHX] Q)
10/14 FUE 167,630 |HAEAHE ZH|QFALZH, 2O Q)
10/14 =l 680,420 [HAEAE ZH[RFAEAL(552=) 2)
10/21 =Rl 554,960 |HAEAE HH|BFALAILH(G02&) 2f)
10/21 =YE 432,000 [HAEAR DA F+H(2FT 60H)
10/28 =Rl 599,210 |HAEAE HH|4FAEAITH(5021 &) 2f)
10/7 R 80,000 [XHA2El EHFXL WEH|(108)
10/7 R 1,470,000 [9E Al2 7|95 2HH|(49Y*3THY)
10/7 R 600,000 |9& A2 &2|AE 2FH|[(4F*150H3)
10/7 R 1,050,000 |98 ZE2| 7|¢E 2FH|(35H*3TH)
10/7 R 300,000 |92 ZE2| E2[AE 2HH|Q2E*150H)
10/28 PR 500,000 |8 THLE 2GH|stEt7))
10/28 PR 500,000 |¥mA FHYE 2 FH|(StHEE7])
10/28 RS 2,010,000 [10& Al=2 7|2t8 2FH|(67F*3THR)
10/28 RS 600,000 [10& A2 £2|AE 2FH|[(4G*150H3)
10/28 R 30,000 |HEHE oY dE 2 HE A0 K|
10/14 RS E=RE 99,000 |10& Cl2H H7|A/SEE|H(2EX|E)
10/14 ST 33,000 [10€¥ C|2CG| WebZH YRR (DY E)
10/14 ST 77,000 |10 SH|O|X| H7|A/SEE|H(2EX|E)
10/14 FdasHE 193,070 |10¥ C|2H ZXALE =
10/21 FJaSLHE 258,040 [10& W 3[QIH AR 2(10/23)
10/21 FJasHE 284,260 |[ZEHE ZH{|7| uX 2 22F |
10/21 FJasHE 270,100 |EE| 24[0|2 #|0|F & 22 F T
10/28 ST 107,000 |EF2H ES 2|H|(LCD1 g
10/28 ST 529,710 |Adobe Photoshop CC(1HA2f) 7|8 20| A
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EL 5 ( = %
<2 B9 A2 [ Al 11,597,710
L) ¢ Cla.
10/7 iGN 717,000 [E=3| O{ZI0|ZHIHz H|(22'H)
10/7 g 159,760 |2t&, 8F W3 =%
10/7 mEs 55,800 | =5 SALEX| T H|
10/14 mEs3 33,000 |10E Cl20 mA A H
10/14 g 30,060 | B=2| O{ZI0|ZA L3 T
10/14 g 100,000 [E2S15 M At HEH|(2FE 2
10/21 g 151,600 (202449 nK7A 2 &S st 3H|
10/21 mEs3 765270 |B=2| OJZIO| ZALH 2] S=H| & &4
10/28 s 24,600 |10& 7| H 225 (FOtR) A7 A8 & (10/25)
10/28 mE=3 28,780 [10& 7|35 (ROLFX|F) 7| AHEE(10/25)
10/28 s 20,660 (108 7| &6FZ(XS18) 7| A E(10/25)
10/28 mEs3 59,600 |d=2| O 2I0[Z &2
10/7 300,370 |10 Z&fH[(OF2|0f| HY)
10/14 74,700 (108 FAHH|
10/21 304,680 (108 F&H|(FITHX Q)
10/28 698,220 (108 HH|(Z7|E Al ZH| )
10/14 196,080 |10E BAH|(H2 AlLE 2)
10/21 346,550 [10E 4&FH|(OF2|Ofl by
10/7 1,083,680 [10& 4&rH| (02| Ofl by
10/14 599,000 (10E Z&H|(7I2TSY
10/7 ESSES 266,740 |10 ZAtH|
10/21 =818 854,320 (108 d&H|(7I=20k2|0f|H] <)
10/14 x828 480,580 |10E Z4tH|(OF2(0fHY ZH| 2f)
10/21 x=828 32,020 |102 A 4HH|(0F2| Of|HY)
10/21 xE4E 307,860 |10E B&H|(FLHA 4F)
10/7 s 111,000 [10E XHLCH K| 2| AF Af2iH| X 2bE T RiH|
10/7 R 99,600 |9¥ *HE25F 2EH]
10/7 s 45,000 |ZEZM7| A4 ZH|
10/7 S5 226,450 [9-10 LXK M= A FH|
10/7 ss5F 40,000 |HER= Al EH|
10/7 R 30,000 |SAHEX| FH|
10/21 Exa= 1,038,000 [10¥ Z2H|(OF2| 0] Hh)
10/28 s 584,780 |10& Z&4H|(OF|OfiHi AH| <)
10/7 A 150,000 |F=¢ ZHAIH[(10070*1,500)
10/28 M7tE&£ 46,670 |HOE AHm|, 7HA] FH|
10/28 M7tE&£ 100,000 |A3H FRIH[(100%)
10/14 =otu g 189,780 | RtHold REE R2FEF(PIZHX] 58)
10/14 =2tudE 314,000 [ FCHEOY ZEZE SHEE (UKt 30071, =7t 2&HI)
10/21 el ST 30,500 |¥Olz|2tet WAE WX F+H|2H
10/21 =otu g 180,000 | TRHHOlE ZEZEATIFA HY ZHd|
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=L g (FA) = X=d

< 4. S > [2 Al] 39,785,628
=L SE(FM) = 94 X=d
10/5 &2 104,320 |HCHE AHAHI2E, XN F), SEIfF(18r2A) F+H|
10/5 s 50,000 |10E HEA SA7| ALEE(ZR)
10/5 s 80,000 [10& WYXH EAL7| AFBE
10/5 s 300,000 |MEAD MEH|(H=H)
10/5 s 100,000 [1A|E SE2|n2| ZEdmA HEA 2o|F(R(A=Ah
10/5 s 11,000 |HCHE SZ2(HIIA 28) 2|
10/5 s 122,000 |13 ZYZ ASEH SPH AKX 2HES|(10/6Y 63)
10/5 s 100,000 [GUf2s FTI otorg =H| Xx2=(10/119)
10/5 s 1,765,170 [9E ZA[ZIA(EE, 7 EEHALHE E(RHS0[X10/12)
10/5 s 1,520 |98 ¥ H A H2| ¥t 25(10/4)
10/5 s 732,600 [7]E 2 75 TAA AL|X|S{E LA H|
10/5 &2 58,000 |AEIMA(9110) B HALE
10/12 s 178,000 |98 HMHA EA7| AR E 9 AHEY 2UH|(6THL/1E)
10/12 s 41,950 |5 8X| 2 27&F T2H|
10/12 s 29,550 (w3 S EHA| ZHAIH|(10/12)
10/12 s 132,050 [HOHE XHFHO1E), WEIHASD) 7 UH[(LHXH)
10/12 e 400,000 |GetAlstiistm OJALY U B8 F Y 32 2 17HRIL S AD
10/12 s 6,412,180 (98 2 H7|AEE(X=0[H10/18
10/12 s 2,180 |98 2 HOFH7| A E(X&S0]%[10/18)
10/12 s 3,067,230 [9& 100FH7[H& ©7|AHE = (RS 0[X10/20)
10/12 s 2,000 |10 Oi+2d 2AEX+=+=2(271:10/10)
10/19 s 100,000 |n3HA QF 2H7|AF 2HZ(10/9 Al 2EHLLH/AH K &)
10/19 s 14,900 [B0|Z(18fA) T+ H|
10/19 s 176,000 |AFRA SALEX| T H[(A4%4,A3%1,B4* 1A
10/19 s 105,000 [} Y=AL HOiH[(=EHEN/Z T2 E 24)
10/19 s 145,650 [}/ Y=AF HOHH[(O|AEET7-9E)
10/19 s 18,000 (2| == T H|
10/19 s 11,150 [10E¥ AAESIRA(103%2) ®7|2(Xt&0|X10/25)
10/19 s 3,460 |10¥ HAESIRA(2013) ®7|2(XH=0|4|10/25)
10/19 s 3,460 [10E AAESIRA(R02%) 7| E (A& 0|X[10/25)
10/19 TER 6,050 [108 HAAESHRA(203%) ®7|E(XHE0[A10/25)
10/19 s 11,390 |10¥ AAESR2A(204%) M 7|2 (X5 0| H[10/25)
10/19 TER 6,110 |108 HAXAESIRA(SE2H) 7| E(XHS0[|H[10/25)
10/19 s 187,241 [10¥ MIBIAFR 2(SK2619 2| 10/23)
10/19 s 55,520 |10 MALE R (KT26152 At50[X[10/25)
10/19 TER 15,390 |108 ™AL E(KT2616 A& 0|4 10/25)
10/19 s 800 [BC7IE EXt+&E(2U)
10/19 s 4,900 |m3| X2k SPOIEHA OIRE )
10/19 s 433,000 |M|UIAlA(2382) SRCH(GT)

5/8




=L SE(FAM) = 94 sy

10/19 R - 160,000 |(EH) 2| XtE 23 FFLH(10/9 A|2EHALH)
10/19 s - 56,000 |(&He)2|XtEF 2 FFO(10/20 M2H A= SAHE)
10/19 s 4,050,000 |X+AF X|2[X}EHEXE AtefH|(FOHCH 2| 9F)
10/19 R 600,000 |HYE STHEHEI|IAL AtHH[(ZRE)

10/19 R 500,000 |22 ML ZhALZHEH|(H H X

10/19 R 2,100,000 | mSAE M-S ALK ALY H|(Z =S Q| 59)
10/19 s 346,320 [GAtEt O|2tSAFAL AbH| (O] =5/4A| 719 @*9,620#)
10/26 s 15,900 [S0|Z(18fA) T+ H|

10/26 s 25,000 [H2MM@8-705) EMAY A4 =&

10/26 e 236,500 |2I&SHE(2TB), A O|A T UH|(RI Y= AL

10/26 R 490,544 (10/26% 2 AO0FR2| ZH[(AHE/EHAL 2((129))
10/26 s 23,180 |10& HXESIRA(1032) EA|7IAAE R
10/26 s 5540 (108 AAESIRA(2012) EA[ZIAAE R
10/26 s 990 (108 AAESIRAQ202%) EA[ZIAALE R
10/26 s 990 (108 AAESIRA(203%) EA|[ZIAALE R
10/26 s 5020 (108 HAESIRA(2042) EA[7IAAE R
10/26 s 192,000 [=2|tileh(FE /R A=A F=5(23.12-25.01)
10/26 s 192,000 (=2|tileh(FEte/F YR} =5 (23.12-25.01)
10/26 s 15,000 (108 MZCHS(OHY)

10/26 s 1,311,370 [108 &3t 2= (A&0IX10/31)

10/26 s - 3,200 |(&tehu2|XtE 2 FFO(10/15 S55F)

10/26 s - 88,000 [(&t)uz|AtE 2 FFLH(10/17 4107

10/26 s - 104,000 |2 2| Xt 2H FFLH(10/21 M4 ML)
10/26 R - 21,000 ((2tH)u3|XtE 2d FFLH(10/24 M50 T =3
10/6 e g 100,000 |108 EY7IFX| 2/ H|(DHX|E)

10/6 el & 573,250 |Of2| 7I2S H7|& Y 2 Xpxf +H

10/13 el & 62,500 |98 SAl= =%, 2]

10/13 He|g 466,000 (2t HEE FRH|(108fA*46,6008)

10/13 2|8 278,000 |SHEA SHEERS T RIH|(108FA%27,800))

10/13 oelg 64,900 | 2|0te LHRHIX| HQIE 2 Xpx{ |

10/13 Zte|s 104,000 |ZS2FM| 25 (75L) T H[(50%*2,0809)

10/13 oelg 575,000 |2 AAICH AX| X EF A

10/20 e 2 800,000 |10 2% M7|H2HER

10/20 e 2 250,000 |10€ 100 7| G2 M7 |He[BEE

10/20 el & 176,000 [10E 2 S&7|FXEx+=

10/20 e g 220,000 |10& 100FH7|E2QH) SZ7|RXE+=
10/20 Helg 250,000 |7|E2 XMa==(EYT) HaH|

10/20 e 7,623 |10E W3[#H0|2¥&=(10/20)

10/20 oelg 36,600 |HAESIRA AQE JLQIH|(AFE H|IF)

10/20 Helg 105,000 (=Xt & FAY T K ZHH|(37H)

10/20 a2 550,000 |FAE X[5I28 758 &5 EIAHRINL)
10/20 e g 495,000 (10¥ 22 O|&¥ AHEE(10/23)
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=L SE(FAM) = 94 XEHy

10/20 |8 858,000 [10& 100FEH7| 2 0[AEY O AR AHEE(10/23)

10/27 a2 89,800 (45 HFOIEZ HHE Ay HAUAZT| FLAH|(17H)

10/27 el & 300,000 |2%,7|Ea &9 A=H|

10/27 o= 40,470 |10 2ZX|SHT G7t0 e 7| AHEE(10/25)

10/27 o) 51,000 [108 2YX|5I2E H+7|AHE E(10/25)

10/27 2|8 31,900 [108 2Y252H| H+7|AHEE(10/25)

10/27 e g 31,900 [10E 7| E24F H=7|AEE(10/25)

10/27 oo s 42,840 |10¥ n3BsAY H+7|AHEE(10/25)

10/27 o) 40,470 |108 2K T 7| AHEE(10/25)

10/27 o= 29,970 |10& 7| E 6T (L IAHA) H=T| A = (10/25)

10/27 oelg 40,080 |10E w3 AT HET|AHRE(10/25)

10/27 Helg 40,080 |10 w2 AT HEI|AHRE(10/25)

10/27 a2 265,320 |100FEA7|E2 52 7| AT AA ==& (20))

10/7 SHEHE 4,110,000 |2 -S4 103% L7HH[(12005)

10/7 SEHETE 200,000 |2H &4 103= HEH]|

10/7 SHEHE 34,000 [2Has4 @0 2E HIOME 2|

10/21 Y2 300,000 |108 S4to|& R FXH|

10/21 WESES 300,000 |10E it} =Sl X[RF

10/21 RS 200,000 |10E ot=7| =t 3[(LV.H et dz X|¥=

10/21 ST 1,000,000 |108 STALUD| XSS A X[ F

10/21 Y2 1,000,000 [YHEZAI 2H| X|J

10/21 W PSE 500,000 [X[143| 2023CH +EZ| 233 At HEF (7| S0 B AT

10/21 NEE 500,000 (2023 st M AFYXICS| ZAF(CHHE A S S22z
< 5. SA/YA/EA/EEXE > [2 7Al] 28,454,980

= = (FAM) e R

10/7 Axg 100,000 |StEEIEE A= FOIFMEEFAD

10/7 AxrE 100,000 [HE2HE 22 FOFMEESAD

10/7 Axg 100,000 |MNEZAEAL 22X HAM| 2o|g(MEESAD

10/14 AxrE 100,000 [E=Z3|AL2 EA| £ 2| F(O|Ef A=A}

10/14 Axg 100,000 [O|MHHOHAI M Fo|F (M2 =AY

10/21 AxrE 100,000 |AEFHE A5 FOIFMEEZA}

10/21 Axg 100,000 [EHEAHOIHAF EM Fo|F(M-HdE=FAD

10/28 AxrE 100,000 (O]9 &HAL 2E HA| Bo|Z(MEEZAL

10/28 Axg 100,000 |MESMHE I HA| 2O|Z(O|EfHZ A}

10/28 dx= 200,000 (102 EX|&2| 2ZXH|

10/28 dx= 249,000 [10/14 Z=7tEHACH A CH(17F)

10/28 dx= 320,000 |Z=7FEHAO) A EE ZHEE T 1H[(207H)

10/28 adxe 54,000 [10/19 Z=7tEHQFCH ACH(6W)

10/28 dx= 65,000 (Z=7tEHQCH I, HAMM |

10/28 axg 85,000 |ZZtEHALC) A& 7 =7F £ 1H|(57H)

10/14 A AR 3,000,000 |AE2H X|AH|

10/14 K SAHE 690,000 [CHA H==0F 2l X ZfH|
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=L SE(FAM) = 94 X=thdy
10/28 KDEAE 400,000 | FBHEFOIH(10/22) M7| 25202 E{*27H) 7L H|
10/28 KL EALE 773,460 |l BHEO|'H(10/22) K, 1Hir-‘r“"tll
10/28 T 1,000,000 [wEHEOIE(10/22) H(50&*2HR) T H]
10/28 X mE AR 8,500,000 | 2Hto|(10/22) &2 2|4(1,7007*5H &) I H|
10/28 XmEAE 1,401,000 [mTeteol=(10/22) H2(127H+45,0009), Bl 01 £ (397}+15,0008),2I XH(18474+1,500) CHOfH|
10/28 K DEALE 499,350 | 2HOl'H(10/22) "0|5’4, M= |
10/28 KNWSAHE 300,000 [wF2tEOl'E(10/22) B A S48 Wk
10/28 KL EALE 180,000 |wEHHO|E(10/22) HYi E o=}
10/7 Atg| =X & 384,620 [10/7Y EAIXHE FUH|
10/7 Atz S X[ £ 3,000 [10/7¢ 23|87| FH|
10/7 AL EX| 2 497,760 |At3| S X5 OF2[OfH] ZH|
10/7 Atz S X[ £ 50,000 |98 wa|AAH|(HEH X&)
10/7 NN 700,000 |ZH|OF Fotd 2| 2 Z2H|(7F*50H21*271 &)
10/21 Atz S X[ £ 376,490 (10/14¥ EATHE FUH|
10/21 At EX| £ 357,600 (10/14¥ 3|87 F+H|
10/21 Atz S X[ £ 549,400 (1021 2AITHE 7 H|
10/28 At EX| &2 645,430 [10/28Y EAIXHZE FUH|
10/21 FAHESALE 301,650 |10& ZFA|CH 2 Chop 7 @H|
10/14  |H77| S0 YA |3l 97,880 |ARMZ YA 2 AHEF T AH|
10/21  |[HTF7IS YA &3 54,600 |$HEEFZ(2EFA) T RIH|
10/21  |H77 IS0 YAR |3l 400,000 |82IX| ™(DCY 207f) + H]
10/21  |CHF7| SR EAR 3 569,930 |10E A2 M7|25(10/25)
10/21 |77 I5 D YA 23 600,000 |Ol01 74 & Wwt7| NS (5CH)
10/21  |[HTR7IS YA &3 37,610 (108 AL QIH UM F(10/23)
10/21 |75 YA 3 330,000 |10& At O AR AR E
10/21  |[HTF7IS YA &3 32,200 |102 A H=7| AHEE
10/28 |SYX|Z (| eMH|) 500,000 |M7|2M WA 2 EH|(X| B F)
10/7 S8 = 3,350,000 |O| S M LA} MEHF

< 6. 30 > [2 Al 93,314,900
L S=(FEM) = 9 NEL R
10/7 HE dsEY 2,542,470 [MAEASEH(=U AL AE, LK)
10/7 WYX}t E| A F 20,100,000 |O| < MuA} E|&F FSZHI 4o
10/21 W AKX} At ] 28,435,120 |m X} A2 H|
A EEREEHEES) 14,739,900 | & AtedH|(BHE)
10/21 | A AHIE|(Z]ZHA) 10,722,780 | Atei|H|(Z]ZHA)
10/21 X E|XF 15,774,630 [2Hd3| |2 g, ML E| X5 S7HIL
10/21 XA S| 1,000,000 [2Hd3] E|A Q25
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